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NOOYMAW

4* 10=| 10* 4 = 40

10+10+10+ 10

7*100=100*7= 700

100+100+100+100+100+100+100
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Haudume owubky.

. 7 6onblLue 42 B 6 pa3

. 4 yBenn4uThb B 7 pas-

nonyynTtbcAa 29

. 72 YME@HbLWWUTb HA 9 —
NOoNTyuYnTbCA 8

. NMpousBeneHue 6 U9 paBHO 56




V=(1*1)*1=1aM3

1AmM3 -? cm3

1000







PewnTte 3agayy

Xo3siMKka 3arortoBuJia Ha
MMy 9 AOBYXJIUTPOBbIX
OaHOK A0NMOYHOro coka n 5
TaKuUX Xe 0aHOK TOMaTHOro
coka. CKonbko nuTpoB
TOMATHOro u HAONOYHOro
COKa 3arotoBusia Xxo3simka?



YpokK Ne 25, yacTb 3.






(@*b)*c=a*(b*c)
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